05 12 28

G )

12,170 | 12,170 | o | o | 0 0
R2 R4 R6
0 100
0 19
17898 11856
0 50




R02 |R03 [R04 [ROS5 [RO6

A13-001 [ N B R 169
A13-002 ] ] ] ] ] 2,884
A13-003 [ I B A B | 209
A13-004 [ BN BN B B 769
A13-005 n n n n 1,058




R02 |R03 [R04 [ROS5 [RO6

A13-006 ] 4

A13-007 ] ] ] ] 2,000

A13-008 [ I B | 1,000

A13-009 ] ] ] ] 2,000

A13-010 A=5. | BN B 1,405
2ha

A13-011 ] 105




R02 |R03 [R04 [ROS5 [RO6
A13-012 . 17
A13-013 A=1. " | = 550
2ha
[T [ [ =l

12,170|




R0O2 RO3 RO4 RO5
@) 22 200 829 810

() 0 0 0 0

(c=a+h) 22 200 829 810
(d) 0 13 177 717

) 9 63 266 759

) 13 150 717 768

@ 0 62 310 622

(h = ct+d-e-f) 0 0 23 0
(i = (g+h)/(c+d)) 0 29.1 33.1 40.73
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